REGIONAL LATIN FORUM 2000
ADVANCED DERIVATIVES

I. Choose the word or phrase which means the same as the underlined word or best
completes the sentence.
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The proletariat originally contributed to society only by
a. having children. b. paying taxes. c. serving in the army.
d. doing manual labor.

The new government was bicameral, so its legislature had
a. representatives from two areas. b. two chambers. c¢. two leaders.
d. two votes per member.

The young boy was absolutely incorrigible.
a. unmanageable b. unconsolable c. adorable d. precocious

. Which of the following is an example of a subcutaneous adornment?

a. shoes b. tattoo c. ball cap d. fingernail polish

A prefatory speech was given for the distinguished politician.
a. introductory b. funeral c. valedictory d. congratulatory

The miser counted his money punctiliously, down to the last dime.
a. repeatedly b. slowly c. exactly d. avariciously

Which of the following is a good example of tergiversation?
a. the earth completing three cycles around the sun

b. a family taking a cross-country trip

c. a former Republican running on a Democratic ticket

d. a poet composing a line of verse

. Everytime he spoke, the sesquipedalian orator used

a. long words. b. a stepstool. c¢. a microphone. d. notes.

Who would be best qualified to work with a fulminating substance?
a. adoctor b. a mason c. a carpenter d. an engineer

A trabeated structure would include
a. arches. b. windows. c.towers. d. lintels.

II. Choose the English word which is derived from the given Latin word.
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fallo
a. fault b. inflation c. falcon d. force
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vulgus

a. malevolent b. vulnerable c. vowel d. divulge
aevum

a. evil b. avid c. alleviate d. primeval

lac

a. lacerate b. lapse c. lettuce d.launch
fauces

a. suffocate b. face c. faucet d. foible
bos

a. bottle b. botanical c. bosom d. bugle
niteo

a. neatly b. ignite c. nice d. niche

laedo

a. latent b. collide c. dilapidation d. dilate
rubeo

a. rubbish b. rubber c. rubric d. rumple
tergeo

a. deter b. thrice c. terse d. torrent

Adv. Derivatives — 2

. Choose the meaning of the Latin root from which the given English word
is derived. :
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hibernation
a. sleep b. live c. winter d. enemy

perjury
a. order b. join c. right d. hurl

progressive
a. thankful b. step c. race d. rejoice

rapids
a. flow b. run c¢. move d. seize

insult
a. enough b. salt c. laugh d. leap



Adv. Derivatives — 3

26. fusion
a. flee b. end c. pour d. smoke

27. eradicate
a.root b. speak c. erase d. fall

28. extant
a. stand b. attend c. endure d. amaze

29. penthouse
a. hang b. within c. weigh d. need

30. source :
a. cause b. rule c. begin d. shine

IV. Choose the Latin word from which the given English word is derived.

31. cauldron -
a. calo b. caleo c. calx d. calvus

32. cousin
a. soror b. frater c. mater d. pater

33. protest
a. terreo b. testis c. texto d. testa

34. succinct
a. cimex b. cieo c. cinis d. cingo

35. prostrate .
a. sto b. strepo c. sterno d. struo

36. maraschino
a. amarus b. margo c. scio d. amo

37. plea
a. ploro b. pluit c. plecto d. placeo

38. cruel
a. crusta b. crux c. cruor d. crudus

39. terrier
a. terreo b. tero c. terra d. ter



40. relish

V. Choose the word which does NOT belong by derivation.
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relinquo b. latus c. reluceo d. laxus

allow b. deluge c. lavish d. laundry

vouch b. invoke c. vow d. advocacy

. dispatch b. surpass c. space d. expand

. mutable b. mute c. commute d. mutual
.ascend b. rescind c. scan d. condescension
. astonish b. stupid c. tornado d. stun

.rely b. ligature c. liability d. lignite

. futile b. confound c. foundation d. funnel
. torrent b. retort c. torment d. torch

. cognition b. denote c. notify d. notorious

Adv. Derivatives — 4



